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How do we know that it was on w77 X" — SR N9 w127 IN2R

OVERVIEW

3"2w" maintains that it is necessary to be PwWINT PYRW in 70D MDY (only) two
weeks before roo. Initially the X723 derived this from the fact that 7wn told the °"12
about the noo 127 (in the nw1o beginning with 3% 7177 wIn7) on (7071) 1. The
X3 challenges this assumption by asking ‘how do we know that it was on 1"7’.
The %) concludes that we derive the two-week rule from the 105 1290 in the 727»
where they were told two weeks before, to bring the 1105 j27p2. We derive that they
were told on 11", from the 72722 72722 " (which is [also] mentioned by the
census of the *"13). Mmoo will discuss the question of the X723 ‘how do we know
that the w5 of 3% 7317 WTnT was said on 11", and also how we derive from the
V"7 that the >"12 were told about the 92722 1705 1299 on 01 1",

L 2
mooIn asks:
— NIAYY N9 (lﬂ:l‘!) 9IRP (0w 2,9 97 NIYPY 229 P92 NAYIAT NN

It is astounding! For in naw noon in ¥''9 P99 the X713 states that everyone agrees

that the 58w 713 -
— 9% 93719 NN YIN YN

Came to 190 9277 on 1''9, for we derive it from a mw 771 of 717 7177 -
— 419 A0 WIND *onn 29091 %50 9271 INA ATH 093 IN9N N

It is written here (concerning the arrival of the °"13 to °1°0 727») that ‘on this day
they came to °1°0 9272’ and it says there (concerning the mxn of w77 W17°P) that

‘this month, etc.’; the X3 continues explaining this w" —
— YN YNY IND X V1N UNY 19N On

Just as there (by w77 v17p) the word 717 means wn wX9, here too (by the

coming to °1°0 727n), the word 71177 indicates it was on w77 WK,
— YN YN 1Y 99N ATD YWINNIT NOUIWO NNYN

It is evident from that X713 that it is obvious that the w25 of 117 w7nn was said to
Twnon ' —

mooin explains why indeed the X723 there is certain that 7777 W77 was said on 11"9:
— 115351 NN 13929 NYN AYPNMIY (05 mnn) N9 NDIPNA 9MINRT DIYN 199

! This is amended to read Xa-.
2R, () M.
9,20 (x2) Mnw.
1
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And that is because the X n1 states in 729 y=prr 270 that w29 mwn» had a
difficulty concerning the sighting of the new moon -

— YR AN N NAN 719 WITPN Y 9IRY 1Y
Until 7"2p57 told 7wn when showing him the new moon ‘when you see the moon
like this then sanctify the new month. The word 717 in the 037 717 WTIMA P10 means that
7wn was shown the new moon when 73"2p77 said 3% 7177 W1In7, therefore it is obvious that it was
said on 11"1. The question therefore is how can the X731 here asks concerning the 109 of w7
22> 7177, ‘how do we know that it was on 1"7’, when these two abovementioned N3 (seem to)
prove decidedly that it was said on n"2?!*

N1B0IN answers:
— NN Y93 NYNY NN 7193 WITHN ININY 22 5Y 9N 01 19°39 Y1

And the n'"9 answered; even though 1'"2p:7 told mwn the nwo of 0d% a7 wNnn
on 11''9, nevertheless -

— *NNT%3 713 IN 733 NIN INIYWIY BN 9N XY NYN KDY
Perhaps nwn did not tell it over to the '"12 immediately on that day but rather
7wn told it to the "12 on the third or fourth day of the month. We cannot therefore

derive from this 705 that we discuss the a7 1397 (a full) two weeks before the an; for perhaps
7wn instructed them less than two weeks before r1os (even though 71"2p1 did tell it to him on 11"9).

ModIN continues:
— Y2991 9219 9951 PION)
And the X723 concludes that we derive the two week ruling from the w"ra of 727 from
6
"a7n.

mooIn responds to the following anticipated question; if we cannot derive the two week rule from
037 a1 wnna, for perhaps nwn did not tell the *"12 immediately when "7 told him, then the same
problem arises here! Granted that 77 told 7wn on 11"7 concerning the 72772 105 127p, but perhaps
7wn did not tell it over to the °"12 until some later date. M»d0IN explains that the X713 foresaw this
question and dealt with it.

- NN Y93 9N NYN NHINNY XIN TIN WITPN NN YN YIND THNAT NINNaY
For concerning that 7109 of 1w wIn® 2nK82 (regarding the counting of the >"12),

the statement of 73''2P77 and the statement of 7w took place on 11''1 -
— N V1NN YN YINY 1N 729N

* See “Thinking it over’ # 1.

> The X1 asks perhaps it was X17°2 '72 % '72. (See “Thinking it over’ in the previous 2°m 7"7 MooIN.)

® It says 12712 concerning the 1 of the 1109 1277 in the 7277 and it says M27»2' concerning the counting of the *"12.
"% 137

2

TosfosInEnglish.com



sXan 1"7 '0n 2,1 o°noo 702

for it is written; ‘And on the first day of the second month, the >'"12 certified

their lineage, etc.’ It is evident that w» spoke to the >"12 (concerning the census) on the same
day, "1, that '7 spoke to 7wn. The w"ta of 72712 72712, teaches us concerning the 1109 127p in the
7277; on the same day that 71"2p7 spoke to 7wn, namely 11", on that day, 7wn spoke to the a8

mooIn offers an alternate answer to the original question:9
— NN YA 7N AT YINNT 23 99X w9 oy 1993

And the >''1 explains that even though the beginning of the 7w"s, 7177 WA, took

place on 7' -
— MRNTY W2 MR RY INIWO N1Y 93 IN 1927 NPT KD NPT 1IN

However, perhaps the continuation of the 7275 where ' told 777X 7wn that ‘you
should speak to the entire congregation of »X2w», this statement of 7"2p7 did not
occur on 11'"9, but at some later date.'”

moon asks an additional question, concerning the arrival of the >"12 in °1°0 7277;
— N9 %3 937932 93719 0NN 992 XY INNN 99NN ON)

And if you will say; why do they not derive there (that the >"12 arrived in 727
°1°0) from the w"1 of 9271 (which states there concerning the arrival of the >"12 in
°1°0 7271) from the 92712 (which is stated by the census of the °"13), as we derived
it here concerning the 2272 nos 127"

¥ See following footnote # 10.

° mpoin original question was how can the X3 ask; ‘how de we know that 037 117 w7nn was said on "7, when
there are the nm7n3 which clearly state that 037 7177 wnn was said on 1"?!

' The *" may not be satisfied with the n" w2 that 7wn may not have told the >"12 what 77 told him on r"9. It
seems unlikely that 7w» would withhold this information even for a brief period of time (especially since 71 told
them "1 58w° n7v 92 %X 1727). In addition the *"1 may not be satisfied with the manner in which the n"3 explains
how the w"13 of 7272 72712 teaches us that 7wn told the °"13 to bring the 71272 1109 127P on 11"7. Seemingly the w'"n
can merely teach us that the 72712 of 109 127p (where it states that ' spoke to mwn) took place on 11"9; but we cannot
necessarily derive from this w'"m that 7wn also spoke to the °"12 on 1"7. See previous footnote # 8 and following
footnote # 12.

' Perhaps the n"7 would maintain that it is difficult to assume that the P02 of "1 P8 N7y 93 “X 1727 which is
written immediately after the P09 of 037 a1 wn7 (and in conjunction with it) should have been said on a later date
(especially since the word 1771 also appears in that [717 w2 qwya] p1o9).

"2 According to the *"7 it is difficult to assume that 7w did not speak to the *"12 on the very same day that '3 told him
to speak to the >"12. Therefore if we know that 77 spoke to 7w on a particular day and conveyed a message to be
given to the *"13, we can assume that 7wn spoke to the °"12 on that day. Therefore concerning the w" of 12712
72713, since we know that ' spoke to 71wn on "7 we assume that 7wn spoke to the °"12 on "7 as well, so we can
derive the ‘two-week rule’. However we are not certain when the 78> N7y 93 DX 1127 was said to nwn. It may have
not been on 11". See previous footnotes # 10.

P It is seemingly the same @"13. The word 72723 is written (X,X 1272) by the census which took place on 1" (the
109 reads °1°0 127m2 "3 727M), and the word N2 is written (X,2° [170°] M) concerning the arrival of the 12 in
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mooIn responds:
$19999% ND 9279219 39197 H7N

And one can say; that we cannot derive the word 9277 (by °1°0 7271) from the

word 92732 (concerning the census). The words are not the same (by n"n it says "0 927»" and
by the census it says "1°0 712712'), therefore there is no w"a.

SUMMARY

The question XP X117 w727 Xnn, means either a) (according to the n"7) how do we
know that 7wn told the "12 about 2°7%n 105 on 11"7, or b) (according to the *"7) how
do we know that 77 told 7wn about the 2°7%» 1705 on 11"".

The w'"3 1s 727722 72722 but not 12772 1274,

THINKING IT OVER

1. Why was it necessary for n1901n to cite both N1 (the X773 in N2 and in NI7IR)
in order to prove that 777 wn7 was said on 11"7; seemingly each X713 alone proves
that it was on r"2?!"*

2. moon asks that we should derive that the *"12 arrived in °1°0 7272 on 1"1 from
the "2 of 72712 7271 instead of the w" of 717 713, What advantage is there in
utilizing the w"13 of 72712 7277 over the w" of 717 71A7?!

°1°0 12771 (the P09 reads °1°0 71271 X2, We can derive from this w"1a that they arrived on 11"7; why is it necessary to
utilize the w"1 of 7771 717, See ‘Thinking it over’ # 2.
' See "1m.
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